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@ x®+2xy+y*=(-x+y)?
@ ax-bx—-a+b=(a-b)(x+1)
@) +x-6=(x-2)(x+3)

@ 6x2—x-1=(2x+1)(3x-1)
® 2 +2=(x—V2)(x+ V2)




® x2-6x+9

3x2 +10x+3 = (3x+ 1)(x + 3)
@® (3x-1)y

@9(x+1)(x-1)

® (x-3)2

@ (x+4)(x-3)

® (3x+1)(2x-1)
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a>0 Lo, o5 AttelA &2 & 25 12H1? (FH 27H)

@) V61a® - Ve = 7a

@ /(1la)? + /(-11a)? =0
® -V169a% - \/(-3a)? = -10a
@ (-V3a)%? - (-V7a)? = 10a
@) (~V2a2 + (-Va@) = a
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@ /(11a)2 + /(-11a)? = 1la + 1la = 22a

(
® -V169a% - \/(-3a)? = -13a — 3a = —16a
@ (-V3a)? = (-V7a)? = 3a-"Ta = —4a
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@3—«/§<5—\/5 @ V03<0.3
® 4v3-1<3v5-1 @ 5< V3+3

® 2V6+2<3V2+2
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D-2<-V3<-1°E21<3-V3<2
3<-v5<-20]B2 2<5-5<3
L 3-vV3<5-+56
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1<V2<20|BR2a=1b=V2-1
2a% +5b=2x12+5x (V2-1)
=2+5V2-5

=-3+5v2
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®© x+y-4 @ x-2y+4 @ x+2y+2

@x+y+4 ® x+4y+2

-y +4(x-y) =(x+y)(x-y) +4(x-y)
=(x+y+4)(x-y)
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@a—3b—6€ @ a+3b-6¢ ® a-6b-3c

@ a+6b-3c ® a+6b+3c

(a=3b)? - (6¢)? = (a—3b+ 6¢)(a—3b-60)
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12. Al A4 A= V204 V80, B= V21+ V79, C = V22+ V78 9 Hla
BAZ} EIEA ALY

D)A<B<C @ A<C<B ® B<A<C

@ C<A<B ® C<B<A

A, B, C 7} BE QfFolBE A2 B2, C? & FEIA HlLAE
z0}
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A2 = (x/%Jr x@)
=20 4 2v20 x 80 + 80 = 100 + 21600

B? = (V21 + V79)?
=214 2V21 x 79+ 79 = 100 + 2 V1659

C? = (V32 + VTB)?
=22+2V22x 78+ 78 =100 + 2 V1716

V1600 < V1659 < V1716 |22 A2 < B? < C?
LA<B<C
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4x —4y =24°|E2 x—y=6

x2—y? = 15001 B& (x +y)(x-y) = 150
x+y=25

< 4x + 4y = 100
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S = (V2-1) + (V3-2) + (V- V3) + .. +

(Va+1-+n)=Vn+1-1
On=8¢m,Sn)=3-1=2

Qn=154M,Sn)=4-1=3
@n=349",5n) =6-1=5
@®n=502 o, S(n) = Vsl -1

®n=994 W, S(n)=10-1=9
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